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. i) ;26% TN T errvagrandy s sifos ST Tl ol el ?
) i e () e
(4) TS S

In September 1816 . .
Direcﬁ)rs ? » Who got the sanction to supress the Pindharis from the Court of

(1) Lord Bentinck .
(3) Lord Dalhousie (2) Lord Hastings
(4) Lord Wellesley

IO U R S B i — S

(a) ST (b) dwE I Wid

watdt Y : © T

1) (a), (), (c) ) (a) W 3) (a), (b) B 4) (a), (c) B
By 1930 A.D. Kisan Sabha were established in Province.

(a) Bengal (b) Punjab (c) United Provinces

Answer Options :

(1) (@), (b). () (2) (a) only 3) (a), (only (4 () (c)only

3. YSIoIie! dlhH ea®hi™ 3Tcdd aey Gear hivl B ?
(a) “RI&He fHamu Fea
(b) SIS &l =TT
(c) Toram HeRe wais
(d) FOTS FHH TEAR

(e) TiTe FO TG
Tt I
(1) (@) (9) (d) (2) (@), (), (), (e)

(3)  (b), (0) (d), (e) K (4) (d) 37T (e) T
Who from the following were the closest associates of Lokmanya Tilak ?
(a) Narsinh Chintaman Kelkar

(b) Damodar Hari Chaphekar

(c) Shivram Mahadev Paranjpe

(d) Krishnaji Prabhakar Khadilkar

(e) Gopal Krishna Gokhale

Answer Options :
(2) (@), (), (), (e) only

1) (a), (c), (d) only
(3)  (®) (o), (d), (e) only (4)  (d) and (e) only

T HITETS WA/ SPACE FOR ROUGH WORK g
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4
Ie Teerea YUt 7 e TR aren e e ;
(a) 3fe 3fsan qodmm () HvEEm
(b) 33131 B | () T
(c) 331 331 Wehea S (i) TR
(d) ST S &y (iv) <EY
gt 39T ;

(@ (b) (o) (d)
M O @) @) o (v)
(2 @) @ @) (i)
() (@) @) (@) @
(4) Gv) () @) (i)
Match the following Bhupalis and their composers :
(a) Uthi Uthi ba Purushottama (i) Keshavswami
(b) Utha Utha ho Sadhaka (i) Ranganathswami
(c) Utha Utha Sakala Jana (iii) Giridhar
(d) Jag re jag bapa (iv) Deonath
Answer Options :
(@) (b) () (d)
O 6 @ @ @)
@ G O @@ @)
6) ) @ () @
@ @ 6 @ G

m BYJU'S

Eiel o=l AT FITHATTER A & ;

(a) @ ReS (b) af= FHlW

(c) dr=Tige (d) @ gaER
it I

(1) (@), (9), (b), (d) (2) (a), (d), (0. (b)

3) (), (b), (c) (d) 4) (d), (©), (), ()
Arrange the following newspapers in their chronological order.
(a) Bombay Herald (b) Bombay Courier
(c) Bombay Gazette (d) Bombay Samachar

Answer Options :
(1) () (c), (b), (d) 2) (a), (d). () (b)
3) (@), (®) () (d) (4) (d), (@) () (@)

=T HTHTETST AT/ SPACE FOR ROUGH WORK
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6. s A feTari=n @ivren 2 Sua wafq g 2 ?
(1) QM -6,7 (2) @i H.-9,10
(3) @it -11,12 (4) @it A -13,14
Which two of the Hinyana caves at Ajanta are ancient ?
(1) Caves No.-6,7 (2) Caves No.-9,10
(3) Caves No. -11, 12 (4) Caves No. - 13, 14

7. Yo A1 90 sheledl Tl Serd e |
(a) T SEEEETE e st grafde.
(b) I TR ST YMe IASTAAT .

(c) I ST S TiiewiN feqor e .

(d)

wardr I ;

(1) TS HET (2) drERES
(3) TS SRl OBRISERED

Name the Governor General whose description is given below.

(a) He took interest in mass-education.

(b)
(©)
(d)

He wanted to establish Vernacular Schools.
He wanted to give education to the maximum people.

With his encouragement, the local governments in Bengal, Bombay and the
gave encouragement to Vernacular education.

Answer Options :

(1) Lord Canning (2) Warren Hastings

(3) Lord Dalhousie (4) Lord Bentinck

=T HTUIETS W/ SPACE FOR ROUGH WORK
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8.  TRTONRR g aqifor i) waree A e I
(a) fororet ey () e
(b) SR (i) T T
() S (i) TFEE T
(d) e (iv) TP ST
et T

@ () (9 (d
1) @ @ @) (i
(@ O @ @@ ()
@) Gv) @@ @ @
4) @) () @ @
Match the following non-brahmin newspapers and their editors.

(a) Vijayi Maratha (i)  Shripatrao Shinde
(b) Jagruti (i) Bhagvantrao Palekar
(c) Deenmitra (iii) Mukundrao Patil

(d) Kaivari (iv) Dinkarrao Javalkar

Answer Options :

(@ (b) (0 (d)
1) G O @) (i
2 @ @ @ (v)
(3) (v) @) @) @
4) @) @) @ @

el SHIATAIST W/ SPACE FOR ROUGH WORK
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(a) MTERLHE

m BYJU'S

(i) wra
b) EER () forqureras
(6 T (iif)  vrenef <
(d) HR (v) R
Tt I

@ () (o (9
1 @ O Gv) ()
2 @) @) @@ @
(3) @) @ @) (i)
@) (v @) @ 0

Match the following authors with their works :

(a) Bhaskar Bhatta (i) Bharat

(b) Mukteshwar (i) Shishupal Vadh
(c) Eknath (i) Bhavartha Ramayan
(d) Shridhar (iv) Harivijay

Answer Options :

(@ () (© (@
O @ @ @)
@ @@ @) @ @
@) @ @ @
(4) @) @@ @ O

e
e HHTETS! Wi/ SPACE FOR ROUGH WORK
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10. 33 SR oy oi ) e ?

(@) T i St e ARG T T g e
(b) I T 2R wr

(c) N nyfirer it S TR WO TeSd WIS VI,
(@) FoTan amitd e v ¢ e fadraen gt

(e) = TR wyw 2R,

TITE Iy
(1) 919 Frege 2 .M Few
(B) T T 4) . ImRER

Who is described in the following sentences ?

(a) The Newspaper edited by him started a new era in Maharashtra,

(b) The hewspaper was called Sandesh.

(c) He may be said to be a pioneer of modern Marathj daily journalism.
(d) He specialized in covering war news.

(e) He was a master of humour,

Answer Options :

(1)  A.B. Kolhatkar (2) N.C. Kelkar
(3) A.H. Gadre 4) G.G. Agarkar

11.

(1) A (2 == @) = (4) TS

Against whom did Warren Hastings give military help to the Nawab of Oudh under the
Subsidiary Alliance System ? _

(1) Rohillas (2) Marathag (3) Jats (4) Rajputs

\

oAl HHEMS ST/ SPACE FOR ROUGH woRrk
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12. e AT

(@)

(b)
(©)

@

FOE ey
T I
TMYWEIE Fed
ooy firerrstt Tirast

ﬂﬂﬁﬂ'lﬁ:{':

1)
2
@)
4)

@ b © @
O G @) G
) @ @ 6
@ 0 G ()
@ @) 0 @

Match the following :

(2)

(b)
(©)
(d)

Krishnashastri Chiplunkar

Morbhat Dandekar

Gangadharshastri Phadke

Vishnu Bhikaji Gokhale .

Answer Options :

(1)
(@)
(3)
(4)

@ @ ©@ @
@ @) @) @
@) @) @ 0

@ @ @ @

() (v @

m BYJU'S
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ae-faag

(i) Argued with reverend Dr. John Wilson on
Hinduism

(i) Vicharlahari
(i) Samudrakinaricha Vadvivad

(iv) Hindudharma Tatva

S

HTAT HAHE FN/ SPACE FOR

ROUGH WORK
P.T
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13. WWWWWWWWW?

(@) ANHT Hyer (b) Y HYH

(c) eIWE Hyerw (d) < HwEH

qaiLt Iy ; )

@ (@), (b) 97 s, (2) W (b) AT SR

(3)  (9), (d) a7 amRe, (4) R (c) AN IR

Which sects in Maharashtra brought knowledge in Sanskrit language to Marathi

language ? '

(@) Varkari sect Nath s

ct

()  Mahanubhav sect ?cjl)) Datta ;ect

Answer Options :

(1) (a), (b) are correct. (2) Only (b) is correct.

(3)  (9), (d) are correct. (4) Only (c) is correct.

14, %9. 1848 Tel TY e § Ty et A< TR S e e

(1) foenef femsifert g (2) TR |

(3) SUYIH IHTHRE Hl (4) e yoReE Hews
The name of the Marathi branch of “The Students Literary and Scientific Society” established

in 1848 A.D. was .
(1)  Vidyarthi Hitbodhini Sabha (2) Paramhansa Sabha
(3) Upayukta Jnyanaprasarak Sabha (4) Shikshan Prasarak Mandel

15. Y&icl STaTd Ui Sheledl saa= =Ta i
(a) MR TFREA gFHET= A T4 2. :
(b) TG 1946 A FHEIR afeh TUH fega ¥ SRR I,
(c) mmmmw,ﬁw,mwammwm

TGq el g,
it I
(1) THTH, e (2) AHLTY, S
(3) THYS T (4) eidt, ITERE

Name the person described in the following sentences :

(a) He was the leader of Nagpur Textile Union.

(b)  He was elected to the legislative assembly as a labour leader in April 1946.

(c) Healso helped the primary teachers, weavers, press workers and mine workers establish

organisation.
Answer Options :
(1) S.H. Batliwala (2) T.CS. Jayraman
(3) Rambhau Ruikar (4) B.P. Adarkar

HeAT HIWTETS! ST/ SPACE FOR ROUGH WORK
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16, T 3T IO 0 o a2

(a) @ Ferhears T e ey freres A,
() T e et e o i

(c) T THIS GURUTE Tl sreeam S Fifmad.

(d) T S T e .

(e) i ToaR el Teahiciienn eeR anenfd .

watdr I :

(1) R e @) R
(3) e aHe (4) & STERS
Who is described in the following lines ?

(a) He was a teacher in Hindu College, Calcutta.

(b) He inspired his students with love for liberty.

() He stressed the need for social reforms.

(d) He started Young Bengal Movement.

m BYJU'S

114

(e) His ideas were based on the principles of the French Revolution.

Answer Options :

(1) Ishvarchandra Vidyasagar (2) Keshabchandra Sen

(3) Colonel Olcott (4) Henry Derozio

-
o] KIS WT/ SPACE FOR ROUGH WORK

P.T.
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17. SIS oo
TS AT A T Srelea Heel
(@)  HEHSH fethw ey aift otoR 2
(b) e Yafew srifamm
(c) Hieem erforer witws
(d) HEweT shall-shftdes wierw
it 3
@ (b) (o (4
Q) @ @ @ (v)
(@) @ @ (v (i)
(3) (@) Gv) @) ()
(4) (v) () @) @)
Match the pairs :
Institutions established by Sir Syed Ahmed

(a) Muhammedan Defence Association of Upper India
(b) Indian Patriotic Association
(c) Muslim Educational Conference
(d) Muhammedan Anglo-Oriental College
Answer Options :
(@) (b) () (d)
(1) @ (@) () ()
(2) (@) @ (v) (i)
3) (@) (@v) @ (i)
@) (v) (@) (@@ @

m BYJU'S

1893
1888
1885

1875

Year of Establishment
1893
1888
1885
1875

T HTATATS! ST/ SPACE FOR ROUGH WORK
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18. QeI ST I Huiq ey ?
(a) TN FTEerE W B,
(b) 3. 1905 = Hir= SRy tfyaTAE d STEas B
(©) TH. 1912-1915 TR ¥ e SrpdE ST e B

(d) 39 1910 T i T Sy wrnean e wel.
vt 39

(1) SRR AR

(2) TR Aga

(3) TN FST TR

(4) =TI TS

Who is described in the following sentences ?

(a) He was a Principal of Fergusson College.

() In 1905 A.D. he presided over the Banaras Session of the Indian National Congress.
(c) During 1912-1915 A.D. he was a member of the Indian Public Service Commission
(d) In1910 A.D., he was again elected to the Imperial Legislative Council.

Answer Options :

(1) Dadabhai Naoroji

(2) Phirozeshah Mehta

(3) Gopal Krishna Gokhale

(4) Justice Ranade

THeeT HTHETST s/ SPACE FOR ROUGH WORK
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19. 1857 =0 32 wrnmes 21 HzaEan wefad on, en | wiem maren e e

(a) 7] A (1)) W
(b) fym 7Fm (i) o=
(c) &9 39 (i) FE@
(d) 97 @A TA (iv) @i
qatdt 397

(@) (b) (o) (d)
(1) G) G) (v) (i)
(2) () (iv) (i) (i)
) () ) (v) ()
() Gv) @) 6) @)
Match the following prisoners from Maharashtra who were sent to Andaman after the Revolt
of 1857, with their native places :

(@) Yadu Bagal (1)  Pandharpur
(b)  Bhiva Lakma (1) Nashik
(¢)  Annu Nathu (m) Satara

(d) Baban Jumal Khan  (iv) Bombay
Answer Options :
(@ (b) (o) (@
(1) @ @ @) (@)
) @) @) @ (@
@) @) @@ (v) (i)
) Gv) (@) @ (@

20. g 3 e Tl 3% SR e & e o o
(1) SEUws HREFS Jeand (2) T AR
(3) WM &Ml 4) WA FeA
Who wrote the book - ‘Notes On Infant Marriage and Enforced Widowhood’ ?
(1) Behramji Merwanji Malabari (2) Dadabhai Naoroji
(3) Madam Cama (4) Perin Captain

THoAT HIHATS AT/ SPACE FOR ROUGH WORK
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. e
= ) S - T R et TwERE (uniformed) T TSI
Lod _____ ‘mifogr)led tax on salt all (S)th try v
. ] all over e coun .
(1) ‘Bentinck (2)  Wellesley (3) Lyton Cornwallis
2. WEEdE! HN fauH wer o ?
(a) TH. 1899 TEN ST o1 G T HOAE AT
(b) 8. 1905 HeA T Ieq
it TR 1.25 @@ feet &
(1) Tfeet faum ww . Q) TR faum T T
() <! faum o et (@) QR e ST S,
Which of the following statement is correct ?
(a) The Assam Oil Company was formed in 1899 A.D.
(b) In 1905 A.D., it produced about 1.25 lakh litres.
Answer Options :
(1)  The first statement is correct. (2) The second statement is correct.
(3) Both the statements are correct. (4) Both the statements are not correct.
03, firaiae Tifec STV = TGS S 5 - |
(a) oI EETd W @ B TR
(b)  Ton fasit (i)
() HETTS () o HR
(d) AEFEEETA GgH TEH (iv) IS FEH e
it 39
@ @® (@ (@
O @ @ O
@ @ @ O
@ @ @ O @
4) @) @ @) @
Match the pairs of the historical literature with its authors :
(a) Thorle Madhavrao Peshwe (i) R.B. Gunjikar
(b) Raja Shivaji ' (i) M.M. Kunte
(c) Mochangad (iii) V.J. Keertane
(d) Afzalkhanachya Mrutyuche Natak  (iv) Kondo Sakharam Ghate
Answer Options :
@ ) © @
o @ @ 0
@ @ @ § @
@ @ @ O @
@ @ @ @ @
ST FTHTETS! WA/ SPACE FOR ROUGH WORK o
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24.
(a)
(b)

()
(d)

1)
(2)
(3)
(4)

Sirea Yeza

RIC2ECTE|
AEH=<R

SN

NEIGETSIE
it 349y

(a) (b) ()
M) ) (i)
(iv) (i) (i)
(M @) (i)
@) () (iv)

(@
(iv)
(i)
(iv)

(i)

Match the following :

(a)
(b)
(©)
(d)

Natya Niketan
Natya Manwantar
Ashirwad
Lalitkaladarsha

Answer Options :

(1)
(2)
(3)
(4)

(@ (b)
O (i)
(iv) (i) () (i)
i (@) @) (i)
@ @) () (i)

(c) (a)
(i) (iv)

m BYJU'S
16

(i) TR TS IOrRT

() SR T W gieAER R SrEwIel CITE e
g &l

(ili) SHTEE HIER AT ST YERHT

(iv) e ¥iies anifor famoqda sfiye

(i) Motiram Gajanan Rangnekar
(i) Started by young idealists devoted to Ibsen and Sha

(i) Keshavrao Bhosle and Bapurao Pendharkar
(iv) Jyotsna Bhole and Vishnupant Aundhkar

25.
(a)
()

QR HETT HILTER hH el

Ul Frasiieh 9T
2T HETSTT 91

gt 397 :

(1)
(3)

(a), (b), (c), (d)
(©), (d), (a), (b)

(b) SEIA TN
(d) i Ufae iy

(b), (c), (d), (a)
(), @), (b), (c)

(2)
(4)

Put the following Associations in chronological order :

()
(c)

Poona Sarvajanik Sabha
Madras Mahajana Sabha

Answer Options :

(1)
(3)

(a), (b), (c), (d)
(c). (d), (), (b)

Indian Association
Bombay Presidency Association

(b)
(d)

(2)
(4)

(b). (), (d), ()
(d), (@), (b), ()

THeeAT HIHTETS! T/ SPACE FOR ROUGH WORK
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26. xgﬁmmmmmﬁw,mmmﬁwmﬁ
' [
(1) TH 9 TR ) S 9 20295
(3) WA I HETR (4) O E STASTR

In 1875 the farmers in the two district in Maharashtra insurrectionise against a pawn-bl‘OkEf'
landholder and the British Officer ?

(1) Khandesh and Nagpur (2)
(3) Satara and Solapur (4)

Bombay and Ratnagiri
Pune and Ahmednagar

27.

eI g F i HeeE o Y e siredl g,

(a) SHMRR () o ST
(b) ¥ femat (i) TR Al B
(c) IS (i) TS T
) sfedse (iv) TrewE el
it I

(@ () (@ ()
@M @) @ @ )
@ @) @ (@) (i)
@) @) @ @) @
4 @ @ @ @)

Match the pairs of the following newspapers and their founders or editors.

(a) Jameendar (i) Maulana Azad
(b) AlHilal (i) Jafar Ali Khan
() Comred (iii) Sayyad Husain
(d) Independent  (iv) Mohammad Ali

Answer Options :

(@ (b (9 (d

H G @ @ @
@ @ @ @) (@
@) @) @ @) 0@
@ @ @ @O o)

o= SIS W/ SPACE FOR ROUGH WORK
¥
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28, YT v n Ay ﬁmmmm:

(a) TEFCTOTTi MH T

(b)  Sw=refemn (@) fraoe FRER

(c) wIwsmy (@) fratEEwd

(d)  yfrem (iv) TemEr

watdt 3wy .

(a)  (b) (o) (d)
M v) G) () (111)
(2) (i) (iv) (1) (i)
() () (i) @) (v )
(4)  (v)  (ihi) (1) (1)
Match the following treatises and their authors -
(a) Swatmnnuhharlarangmn (1) Tukdev

() Chaitanyachandriks (4)  Shivram Akolkar
(€)  Dnyanaprabodh () Shivdin Kesan
(d)  Anubhutilesh (iv) Samrajyawaman

Answer Options :

(@) (b)) () (d)
(1) v) @) @) ()
() () ) @) )
() @ @) @) @)
(3) v) @) @) @

29. fole v fowm W= e
(a) SOV T s 3
(b) WESHE ywiE! e 39
(c) SRS SRS+ FEEUN (8T 539
(d) wmv@mm&mﬁmammmﬁaﬁm
qqidt I :
(1) (a) B @) @EFE (3 () ) QF @4 @), (®), (c), (d)
Objectives of the Depressed Classes Mission Institute -
(a) Providing jobs to the untouchable,
(b) To teach the public religion.
(c) To solve the social problems of untouchables,
(d)  Transforming a tactile society, getting support from all levels to prevent untouchabili

Answer Options :
(1) (a) only (2) @ ®only  (3) (), @) ()only (1) @), (®), (<), (d)

oAl HMTATS ATM/SPACE FOR ROUGH WORK
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30. ¢ feoten St 3 wn fad amim <t fsmmr e SN o :

(a) TS Snfor b (@) i

(b) HE o o )

(c) =M SR (i) eTEEE

(d) SIS St ey (iv) Feeh

i 39N

(@ @® () (d
1) @ @ @ @)
(2)  Gv) () @) @)
@) @ @ @) (i)
4) @ @ @) (i)

Match the following companies and the places where they are located :

(a) Jessop and Company () Ranigunj
(b) Mackay and Company (i) Barakar
(c) Bengal Iron Company (iii) Asansol

(d) Alexander and Company (iv) Calcutta
Answer Options :
(@ () () (9
1 @ @ @) @)
2 (v) @) @ @
3 @) @) @) )
@) @) @ (v) ()

31. @ faur faerE =i
(a) HER ‘AT TR (1940) =1 e el
(b) 7. i Sl Gee TeTe gE Hva e fe.
(c) e T S A AT S e HSe.
(d) mmﬁﬁﬂ’rﬁmwaﬁﬁﬁmﬁ?ﬁ.
et o faem SRre 31 2
(1) (a) 3T (b) (2) (o) Mo (d)

Consider the following statements :

(a) Congress had accepted ‘August Offer’ (1940).
() Mahatma Gandhi had instructed that individual Satyagraha Movement should be

started.
(c) Vinoba Bhave broke the Act against Free Speech first.

(d) British government had given Vinoba Bhave imprisonment of 6 years.

Which of the above statements are correct ? |
(1) (a) and (b) 2) () and (d) (3) (b) and (c) (4) Allthe above

(3) (b) U (c) (4) @

ol FHTATETE S/ SPACE FOR ROUGH WORK A
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HIET R Ao 1 et e 2
(@)  HRATC TR ToRsg Segr 2O A1 O T Soeid@ el

(b) 3 AT RS ForsiTor o A,

(c) XMt Heefhion e Trvaren s 2.

(d) TR FHRTEEY T wim S SR T,

At Iy ;

(1) %9 (a) R (2) 9 (a) ST (b) R 3
() TS (a), (b) 3 () T A (4) e (b) A (d) R A
Why did the Congress rejeét the Cripps proposal ?

(@)  There was no clear mention of when the colonial autonomy will be given to India.
(b)  This plan was to divide India,

() Right of Indian states to remain Independent.

(d) No creation of an Independent Pakistan for Muslims.

Answer Options :

(1) Only (a) is correct. (2) Only (a) and (b) are correct.
(3) Only (a), (b) and (c) are correct. (4) Only (b) and (d) are correct.

33.

GIeiterde! HIvR faum s o ?

(1) R FThRA HIER Fiateqan fa=r soammet <r afd Soe,
(2) e Y § Ufect wiftes T fmior o,

(3) MYy ¥ ieet wifts W frmio g,

(4) ‘T YalE afufE - 1956 81 e YRG WER T Fa

Which of the following statement is not correct ?

(1) Government of India had appointed Dar Committee to consider Linguistic reorganisation
of states.

(2) Mabharashtra state became first state created on the language principle,
(3) Andhra Pradesh became first state created on the language principle.
(4) ‘State Reorganization Act - 1956’ had passed by the government of India.

FedT hTATATS IR/ SPACE FOR ROUGH WORK
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34. Siredl Yo :
W - A WY - B

(a) TR i v el () gua faga woE Hew

(b) Ta=0. AR (i) Y e

() HHIR =0 It (i) T TS U

(d) S SEERE st (iv) Toede

i 3T :

@ ®) () (@
M 6 @) @ G
(2) @ Gv) @ (i)
(3) (@) (@@ @ @)
(4) @) @ @) @
Match the pairs :

Column - A Column - B
(a) Maharshi Dhondo Keshav Karve () Dudhgaon Vidya Prasarak Mandal
(b) V.D. Sawarkar (i) Anath Balikashram
(c) Karmaveer Bhaurao Patil (i) Swatantra Majoor Paksh
(d) Dr. Babasaheb Ambedkar (iv) Mitramela

Answer Options :

@ () (9 (@
1 @ @Gv) (@ (i)
2 @ @G @ @
3 @) @@ @ @)
4) @ @@ @) O

T AR HIR (1953) ST TE TN Afekrell WL A ?
(1) TE WY & I TS .

35.

(3)  SfET == F AEAUNE HIeht
(4) EesEE meTie o TLfa. T

Identify the pair from the following who were not the signatories of the Nagpur Pact
(1953) ?
(1) Ramrao Deshmukh and Gopalrao Khedkar
(2) Yashwantrao Chavan and Bhausaheb Hire
(3) Devising Chavan and Laxmanrao Bhatkar
(4) Dhananjayrao Gadgil and D.V. Gokhale

FoAT IS WM/ SPACE FOR ROUGH WORK o i
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36.  T7. 1920 T momma 49 ¢ s <fove’ Fe wEast g 2
(1) 0w (2) TR TITA WE HEA
(%) wef fagzm mrh foiz (4) e I e
Who organised A Conference of Untouchables at Mangaon in 1920 ?
(1)  Kaka Kalelkar (2) Rajarshi Chhatrapati Shahu Maharaj
(3)  Maharshi Vitthal Ramji Shinde (4) Maharshi Dhondo Keshav Karve
37. wefd i1 dm w0 wton wredn arEmEdE B fauE 9@ a2
(1) 7 |{EmE win e v $5A R,
(2) 9. 1910 wrEN wiE afen fagamdemE’ = S,
(3) & 29 wE wfeen fagarear ' e Fe.
(4) WA wTEeme @E S9N WS ROH F8 Fel,
Which of the following statement about Maharshi Dhondo Keshav Karve is not correct ?
(1) Government of India had honoured him by the reward of ‘Bharat Ratna’.
(2)  He founded “‘Mahila Vidyapeeth® in 1916.
(3) He founded ‘Mahila Vidyalaya’ at Hingane.
(4)  He had worked as a Professor of English at Fergusson College.
38. aI9eq WidW |rel fafuHes TRy F#0g[ A
(1) 1862 (2) 1880 (3) 1892 (4) 1898
The Legislature.was established in the Northwest Territories in
(1) 1862 (2) 1886 (3) 1892 (4) 1898
39. fEa wrdE fég wemve aifts sifvasm 19 sfme 1923 T A WA . @™

e8] HEq HIgA AIAETd 2.
(1) @Er (2) wIE= 3) (¢4) @R

The annual convention of the All India Hindu Mahasabha was held on 19th August 1923 at
under the presidency of Madan Mohan Malviya.

(1) Haridwar (2) Punjab (3) Kashi (4)  Lucknow

FoT STHIATS ST/ SPACE FOR ROUGH WORK
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40. Qi faum foamm =0
(a) 1915 Tiel feg Herw @ .
) feceh 32 fig memis v sifyawm .
(©) T weradrsh wem T e e, Tt A ST .
Tt B fauH axET e ?
1) @FME @ GAmE () @F@ (@) Taw
Consider the following statements :
(a) Hindu Mahasabha was established in 1915.

(b) First conference of Hindu Mahasabha was held in Delhi.

(c) Continuously six conference of Hindu Mahasabha were taken under the Chairmanship
of V.D. Savarkar.

Which of the above statements are correct ?
(1) (a) and (b) (2) (b) and (c) (3) (a) and (c) (4) All the above

41. 1977 9 Wi fHasweid R GRS s b e (G
() I (TH)
(b) W e (), S
(c) TR HiEE
(d) WSTEHISETET 98
Tt I
(1) (a) 3 (o) 2 () e (d) 3) (a), () 3nfor (@) (4) == wd
had joined the Janata Party during the elections of 1977.
Congress(s)
Bharatiya Lokdal (BLD), Janasangh
(c) Democratic Congress
(d) Praja Samajwadi Party

Answer Options :
(1) (a) and (c) (2) (b)and (d) 3) (a), (b) and (d) (4) Allof the above

AT FHTOTATS! W/ SPACE FOR ROUGH WORK o
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12 %1889 7Y ‘Sefizerer ey o e Sfe’ 1 TR T o et B 2
(1) 97 ToryT e (2) HERd TEE TS
(3) E feaw | (4) wefd HiE v o

Who founded the Institution named ‘Industrial Association of Western India’ in 1889 ?

(1) Gopal Ganesh Agarkar (2) Mahadev Govind Ranade

(3) Lokmanya Tilak (4) Maharshi Dhondo Keshav Karve

43, 'mmmmmﬁwwwmmmmmm?

(1) e et (2) WEFHR

(3) TRz (4)  TETETEE e

Who said that the Cripps Plan was a still-born child of the British Parliament ?
(1) Mahatma Gandhi (2) Rajendra Prasad

(3) Pattabhisitaramayya (4) Jawaharlal Nehru

44. Gt faym feema =
(a) IISTE SR Gog WidT T ST B,
(b) ﬁzﬁmw@nrﬁeﬁmaﬁﬁamwrﬁmwmﬁ.
(c) I Fidr=2n WawT fSicand FRreRer=t T e,
SRIeTdent HIvd! fae™ stew a7 ?
(1) (a) 30fT (b) (2)  (b) 3o (c) 3)  (a) =0 (o) (4)  (a), (b) &mfvr (c)

Consider the following statements :

(@)  In ‘Quit India Movement the Bombay Presidency was at the forefront,

(b) British government sent Mahatma Gandhi and Pandit Nehru in the prison of
Ahmednagar.

(c) ‘Pratisarkar’ was established in Bombay Presidency’s Satara district.

Which of the above statements are correct ?

) @ad® @ O @ @adld @) ()6 aad

el TS A1/ SPACE FOR ROUGH WORK
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45. U YeE T SAaay HRor 41 gevid e fauriEn fean o .

(a) I YR WRaW Srfas wiawet faere.

b) T s Tgien Hedean i Sl
(0) aifere T afeeh farar ot S 39 we.
FUAYD! I FFUH ST 37Rd ?

(1) (a) 37T (b)
Consider the following statemen
(a) India got global status due to this Policy.

(b) He stood for Non-aligned Movement (NAM).
(c)  First summit of Non-alignment nations
Which of the above statements are correct ?

(1) @and(®) @ @Gand@ @

o

2)  (b) 3 () (3) (a) 3 (9) 4) (), (b) 3 ()
ts about Pandit Nehru and Non-alignment Policy.

was held in Cairo.

(a) and (c) 4) (a), (b) and ()

46. SirSdl €@l

W - A
(a) A Ifen esd (i)
(b) STl A =S TSH (i)
(c) AW et et (i)
(d) Hd TSI HERTS hicis (iv)
Tgidr S

@ () © (@
1 @ @ @) @)
@ @) O @ G
G) (@) @) @ 0
@ @ @) @ 0
Match the pairs :

Column - A
(a) Union Boarding House (i)
(b) Chhatrapati Shahu Boarding House (i)
(c) Chhatrapati Shivaji College (ii)
(d) Sant Gadage Maharaj College (iv)

Answer Options :

@ () (© (@

n @ @ @
2 (v @ @) )
() (@) @) @ 0
@ @ @ @ O

w9 - B
1924
1947
1954
1932

Column - B
1924
1947
1954
1932

o1 SIS WA/ SPACE FOR ROUGH WORK
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W~ A %W - B
(@) MY et () feer = ufe=m €T
) fegs (i) o -
(© REwrR (i) i
(d)  hT - e (iv) Ty W
Tt Sy
@ () (o) (q)
M@ @) ) @)
2 @ @) (iv)
G) @) @ @) @
4) @) (v) () (1)
Match the following :
Column - A Column - B
(@) Damodar Valley ()  Bihar and West Bengal
(b) Hirakud (ii) Punjab

() Nagarjun Sagar (iii) Orissa
(d) Bhakara-Nangal (iv) Andhra Pradesh
Answer Options ;
@ () (o (d)
M O @ @) @
@ O @ @@ ()
) @ @ @ (v
4) @) Gv) @

48,

1935 =1 IR e A Wreitertat o 2
(1) Wea Wi fAfR,

2) fgrE FreHe=,

(3) wr ffHdASt wfire,

(4) e Fifwe &

Which of the following is not the salient feature of the 1935 Act ?
(1) Creation of a federal court.

(2) Bicameral Legislature.

(3) Committee for the making of the Constitution.

(4) India Council cancelled.

AT HIMHEIS! W1/ SPACE FOR ROUGH WORK
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A A STeY o arievia wete faer frerad =1

(a)  STOYTE oo W weanien sifte Hewrel T 3T § W

b) ifae Wi TRem o dereh <o @i Hef.

(c) ol & g aidtet faamei it Swee feet .

et o fem o a2

1) @amp) (@ EEPE @) @AM @ T

Consider the following statements about ‘Mahatma Gandhi’ and untouchability

Eradication :

(a) E.roblem of untouchability Eradication was not important than swaraj according to
im.

(b) He founded ‘Akhil Bhartiya Harijan Sevak Sangh'.

() He had not encouraged marriages between Savarna and Harijan.

Which of the above statements are not correct ?

(1) (a) and (b) (2) (b) and (c) (3) (a) and () (4) All of the above

50.

Ereieent HIvH faum e 3R/ ?

(a) e Fred & T STRER A O A8 g S T S .
(b) Wﬁﬁ%‘ﬁﬁ%'aﬂ‘gm’mmmmﬁ%mﬁ.
() ‘g’ ¥ Etee e @ SR e s e

ﬂ'ﬂf’iﬂ' i £ .
(1) (a) ST (b) FH ST, 2)  (a) MO () THT 3TeA.
(3) W (c) Y AT, (4) W (b) ThH R

Which of the following statement(s) is/are wrong ?
a Tilak and G.G. Agarkar founded ‘New English School’ in Pune.

spaper ‘Vijayi Maratha’ and later in ‘Sudharak’.
ed in both Marathi and English languages.

(a) Lokmany
(b) Agarkar wrote first in the new
(c) ‘Sudharak’ weekly was publish
Answer Options :

(1) (a) and (b) are wrong:

(3) Only (c) is wrong:

(2) (a) and (c) are wrong.

(4) Only (b) is wrong,.

S
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(1) 3 T e v i w9
(2)  FTRNT TS i FET e,
(3) R WAvEER @i+ gem e,
(4) " sregT v’ & gew @i et
Which of the following statements about Maharshi Vitthal Ramji Shinde is not correct ?
(1)  He did work as a propagator of Arya Samaj.

(2) He took part in Disobedience Movement.

(3)  He did Satyagraha for entry into the temples.
(4)  He wrote the book entitled ‘Bhartiya Asprushyatecha Prashna’. (India’s Untouchability
Question).

52,

ﬁwmmmﬁgﬁwm'%w T AT 37 ?

(1) 1858 Fryer 2) 1919 FER (3) 1935 g (4) 1947 FE
The title of “Emperor of India’ was abolished from British crown by

(1) 1858 Act (2) 1919 Act (3) 1935 Act (4) 1947 Act

53.

Grefierdeht o fasm @y e ?

(@) . S T farreanren fagia wiiea e,

(b) =T HEHE T A AR Heql Tog Hise,

(©) mwm&aﬁaﬁ‘maﬁﬁﬁ’mgﬁaﬁmum‘vmﬁ'mwm_
Tgidt I

(1) (a) ® (2)  (b) ®ed B) (o) e 4) = wd

Which of the following statement is not correct ?

(a) Barrister Jinnah had asserted the ‘Two-Nation Theory’.

(b) Dr. Mohammad Igbal had introduced the concept of Pakistan for the first time,
(c)  Sir Sayyad Ahmedkhan used a word ‘Pakistan’ first in his leaflet ‘Now or Never’,

Answer Options :
(1) (a) only (2)  (b)only (3) (c) only (4)  All the above

—_—
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54. HEAE U= Srefavamrdt fwen A fafay weiten wo@iE 9RES Hof senfac 2

(1) diS Adeeeq (2) RS T

(3) e a=a (4) =

Who called a conference of the leaders of different parties at Shimla, for solving the
Constitutional problems ?
(1) Lord Mountbatten

(3) Lord Wavell (4)

(2) Stafford Cripps
Churchill

55. WA fau™ foerm =0
(a) 15 3T 1969 Tht Sfeam w frad siffrger =it FfHd e,
(b) HRE FaER FeeT HE (35) Y@ e SeRe e,
(c) 1975 el YRAM STaem g AL T shel.
FleTIeRt IO faaM sHeR 21Rd ?
1) @b (2 ()T (3) (b) S () @) (a), (b) =07 (c)
Consider the following statements :
(a) ‘Indian Space Research Organization’ was established on 15t August 1969.
(b) Head office of Indian Space Research Organization (ISRO) is in Bangalore.
(c) India had debuted successfully in the world of space in 1975.
Which of the above statements are correct ?

(1)  (a) and (b) (2) (a) and () (3) (b) and () 4) (a), (b) and (c)

56. I FETEed ASHUAl dedid @reitdl [agHE= fo=ur =4 .
(a) Sfewhd feaenton FH= Tl = 1928 A Shefl,
(b) I e WA a1 | d ST B,
(c) ‘YR sfgepa- e YoRe Heoar!’ i+ TuHl et
TeTieR! IV faum sRie 3ied ?
O @amE @ GIAMQG () @AM @ @) ) A(
Consider the following statements about Dr. Babasaheb Ambedkar. '

(a) He founded ‘Bahishkrut Hitkarini Sabha” in 1928.
(b) He was the president of the Drafting Committee of the Indian Constitution.
(c) He founded ‘Bharatiya Bahishkrut Shikshan Prasarak Mandal'.

Which of the above statements are correct ?

(1) (a) and (b) (2) (b)and (c) (3) (a) and (c) 4) (a), (b) and (o)

T HINETE! ST/ SPACE FOR ROUGH WORK o
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57. 'm'mwmm@mammmm ez,

(1) T R 7 g1 wrreq

(2) =EER v T T T

(3) U WEER T swd

4) et e

Identify the correct pair for their participation and leadership in ‘Chipko’ Environmental
Movement.

(1)  Mrunal Gore and Durga Bhagwat

(2) Chandiprasad Bhatt and Goura Devi

(3) Medha Patkar and Arundhati Roy

(4) None of the above

58.

SIS 1

wHH- A WY - B
() S HAWR @ 1916
(b) HTEE ngH WWL/——-@) 1919
(c) “URYY HawR (iii) 1918
(d) TRoft SEIREET gfeet 3dmm (iv) 1917
it Iy ;

(@ (b) (o) (d)
1) @ @ @) ()
(2) @) @) (v) (i)
3) Gv) @) () (i),
@) (@@ @v) @) (i)
Match the pairs :

Column - A Column - B
(a) @ atyagraha i 1916

(b) Establishment of Sabarmati Ashram (i) 1919
(c) Champaranya Satyagraha (i) 1918
(d) First fast fo (iv) 1917

Answer Options :
@ ® © @

O 6 @ @ W
@ @ O @ @
@) G 6 @
@ @ @ O @
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59. R sRATE W Sedt At e ST e MRET e el

1) 75% @) 77% (@) 79% (4)

of the landmass of undivided India was retained by India after partition.

(1) 75% 2) 77% (3) 79% (4) 81%

60. SISl A&l -
Wi - A W - B

() RIS AR @) 1928

b) Ryl Fgfne aEl s e ) 1940

(c) fewa sHmhics T (i) 1942

() Tegeam Onifere fafsrs s @(v) 1939

it e

@@ (®) (@ (@
1) @) @) @ @@
2 @) @ @ @
@ O @ @) @)
4 @@ @ @v) ()
Match the following :

Column - A Column - B
(a) Forward Block @ 1928
(b) Revolutionary Communist Party of India (i) 1940
(c) Radical Democratic Party (iii) 1942
(d) Hindustan Socialist Republic Army (iv) 1939

Answer Options :

@ () (o) (4

(1 @) Gv) @ @
2 (v) (@) @) @
@ O @ @@ )
@ @ @O @) @@

AT HITES 9/ SPACE FOR ROUGH WORK
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61. A ST M oR WA T a1 IR S Te.
(1) diE 3nfty Py ) Tacie snfor stegfariam
() FFaaam @) W o Seumf
Core Part of the Earth is mainly made up of and minerals.
(1) Iron and Thorium (2) Silica and Aluminium
(3) Nickel and Iron (4) Uranium and Heavy Water
62. e Huw, Feiree, fiey, Y&iq ¥ ¥ gHeF 3.
() WyEErg
(b) frwfem
(c) o3 < faaraolt
Tt 39
(1) S (a) =R TR 2) (a), (b) SRR 3.
(3)  (a), (b), (c) SR 7= (4) R (b) TN AR,

Ellen Semple, Humboldt, Ritter, Ratzel are supporter of

(a) Possibilism

(b) Determinism

(c) Stop and Go Determinism

Answer Options :

(1) Only (a) is correct. (2) (a), (b) are correct.
(3) (a), (b), (c) are correct. (4) Only (b) is correct.

63. mﬁma-mmmmmﬁwm?

(1) 9IR@H (2) WX (3) USTES 4) =0« ud
Which of the following land form is formed by the work of by river ?
(1) Crescent dune (2) Lake (3) Potholes (4) Al of the above

64. 3T, Siferh, S 9 widiiee o HERERI Tushr=n et 3R,

(1) (2) & @) s’ @) T

Apsara, Ambika, Chanderi and Krantigold are the varieties of —_ cropsin
Maharashtra.

(1) Paddy (2) Wheat (3) Jowar (4) Bajara

HoAT THIMMEIS! W/ SPACE FOR ROUGH WORK
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65. TTEleIdeh! VI fehraren YR HIHua @ ?

(1) fen (2) fware

(3) erRfEA (4) YR HURE T

Which of the following type of Coast is found in Konkan ?

(1) Ria (2) Fiord

(3) Dalmation (4) None of the above

66. Teleldsh! Hio faum/ faum afie] 3T/ 31ed 2
(a) 3ifors o Faftfdract et e, @fsie, Tge 89 Jafie 9y I U wod AR

el Sl
(b) HERTL TME Hieewme Faifaes arq i =i FiHdErSt She S,
Wf'v‘-ﬁa'fﬁ':
(1) K (a) (2) W (b)
(3) TIEI (a) T (b) TR 3T (4) TR IR T

Which of the following Statement/Statements is/are correct ?
(a) Coal, fossil fuel, wood and natural gas are used for thermal power generation.

(b) Maharashtra uses maximus coal for the generation of thermal power.

Answer Options :

(1) Only (a) (2) Only (b)

(3) Both (a) and (b) are correct (4) None is correct
67. HRAW @ qedrAT SR TSN AGead.

1) wHaE (2) TRAE (3) e 4) dads

plateau occurs on the Western side of Aravali Mountaism in India.

(1) Mewad (2) Marwad (3) Malwa (4) Bundelkhand
68. IO ST YN WS YWl EA A . W il S,

(1) (2) @ (3) TG (4) <R

Where land enters thesea _ pattern of settlement is found.

(1) Linear (2) Arrow (3) Star (4) Square

HEAT FHIHES WA/ SPACE FOR ROUGH WORK 1
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69. 3.9 1911 T frdiarey * simiferes waiaRomeRie Hoa’ A1 TRIchTS TG hivl 71ed ?

(1) e T (2) veuad g

(3) iAo Ealree (4) goM = A9

Who is the writer of a book, ‘Influences of Geographical Environment” written in 1911 ?

(1)  Friedrich Ratzel (2) Ellsworth Huntington

(3) Alexander Von Humboldt (4) Ellen Churchill Semple
70. SIS A

AT fee=r

(a) AR () SRR

(b) e () e

(c) Tadre G EENED

(d) T - AYATR (iv) SOm

Qi 34T

@ () (9 (9
i 1) @ @Gv) @ (@)
2) @ (@) @) @
@ @@ @) @ @
4 @ @) O @
Match the following :

Sanctuary District
(a) Nagzira (i) Aurangabad
(b) Tadoba | (i) Gondiya
(c) Gavtala (i) Nashik
(d) Nandur - Madhameshwar (iv) Chandrapur

Answer Options :

A (@ (b) (9 (d)
1) @ @ @ @
(2 @@ (@) (@) @
) @) @) @ @
4 @ @) O @

FAT HIEIS SFM/SPACE FOR ROUGH WORK
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71. ‘e 9 ' foeREe= ¥ @ e HHS ST

(a) STIFRIS R galee

(b) Tufteer TeR

(c) ofeA Haa

T 3T

(1) e (a) SRR 3T @ (a) (c) IR e

(3) I (b) R S (4) (@), (b), (c) TR ed

is known as the Pioneer of ‘Stop and Go’ determinism.

(a) Alexander Von Humboldt

(b)  Griffith Taylor

(c) Ellen Semple

Answer Options :

(1) Only (a) is correct (2) (a), (c) are correct

(3) Only (b) is correct (@) (), (b), (c) are correct
72. %mwmmmmwmﬂamm@w

1) 3-Ere 2 3 E‘—W (4) 3-Whe

is a Pan-Indian eleCtronic Tradmg Portaj, which networks the existing APMC

mandis to create a Unified Nationati¥a oragricultural commodities.

(1) e-NABARD (2) e-NAM (3) e-Kisan (4) e-Market
73, ‘o Weded fasia’ 8 fagid iSRS o sname B,

(1) T (2) SiaarE @) wfaemures (4) TRTEA

Wegner, who propounded @ory of Continental anthas scholar of

(1) Geography (2) Biology (3) Physics (4) Geology

YETE 81 HReNErid AW 3.

(1) g () "ETE () TR (4) g

Dharmavirgad isin _____ village of Maharashtra. :

(1) Mahur (2) Pedgaon (3) Purandar (4) Phulgaon

FHeAT HIUTETS ST/ SPACE FOR ROUGH WORK g
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75. eIt HIE AIRIEEGE S E 3 2
(a) R b) @ (€ ®d (@) fee
ggiat I ;

(1) W () 31 (b) (2) = (b) V() () T (b) V() (4) FH (a) 3 (d)
Which of the following are u degositional landforms ?

(@) Headland (b) () Stump (d)
Answer Options :

(1) Only (a) and (b) (2) Only (b) and (c) (3) Only (b) and (d) (4)

Spit

Only (a) and (d)

76. WEIs! FeRIETE Hived) e THEa oAl Wh{dsh TREl WA 7 ?
(1) {31 e (2) &S WOl
(3) ORI Sua (4) Tred T e
Which one of the following is not included in the UNESCO'’s cultural heritage site in
Maharashtra ?
(1) Ajanta Caves (2) Ellora Caves
(3) Elephanta Caves (4) Gateway of India

77. ﬁwﬁﬁnﬁ:mﬂaﬁmh@mmﬁ?

(1) 3w T@ @ #msd T () T (4) T
Which river is a tributary of Ganga river and originates near Amarkantak ?
(1) Damodar River (2) Son River (3) Debang River (4) Narmada River

78. WIRiIeh! HIVAT RO i1 G W FHio g ame ?
(1) et §Hg fHm S
(2) HENI YSRT= WYSHSSId YT Tiell aedH
(3) et wedren e
(4) HYZ A G HEHS |
By which of the following reason the 'w area of Konkan is formed ?
AAred ol OnKan, 15 )
(1) Due to upliftment of the Arabian Sea cost
(2) Due to the subsidence of western part of Maharashtra Plateau

(3) Due to the creation of Sahyadri Mountain
(4) Due to the erosional work of Sea waves

THeeT HIATATS! T/ SPACE FOR ROUGH WORK
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79. WIEiCIdsh! IVl Gog STTNHE sidaEes §Id e 2
(1) feeR, s, st
2) fored, <R, somfRam
(3) HIEHIR, wifeael, He
(4) SfEe, Sreed, T
In which of the following Mumbai Suburbs Bauxite deposits occur ?
(1) Dindoshi, Mulund, Versova
(2) Vikhroli, Chembur, Anushaktinagar
(3) Ghatkopar, Chandivali, Kurla

(4) Borivali, Jogeshwari, Goregaon

80. I ufewa T fae IAREA dred TGl v e i %t ?

(1) Formi @ T (3) e g (4) T TSR
Which land form is created by the river when it flows from the Q@lope in the firgt
stage ?

(1) Pot holes (2) Natural Levees (3) Alluvial cones (4) OX-bow lakes

81. =4 o= Wrems fAfHdaE! Ereierds! Sivmar urq sTar ?
(1) = (2) TTEe (3) Wl (4) e

Which of the following mineral is used in Production of High Quality Steel ?

(1) Copper (2) Limestone (3) Manganese (4) Bauxite
82. 1 YT ARAEEE TR Fe SR,
1 T (2) T () femien @) =

scientist is a supporter of possibilism.

(1) Brunhes (2) Ratzel (3) William Davis (4) Kant

FHAT HIAHIG! WRT/SPACE FOR ROUGH WORK PTO
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83. mmmmm%wmm————
1) frw (2) TR (@) TR (4) IR

GIGRRIGHEIS

Nighoj, a famous place for potholes is in taluka of Maharashtra.

(1)  Shirur (2) Sangamner (3) Parner (4) Junnar

84. RN fERIICT @refel Jeroia e = Sewiih! R0 STE! I g ?

(a) @R . GRS

(b) <SR N C R RIE

(c) = - QT w7
(d) e - YA S i

LRIRIEE

(1) (a) 3T (d) (2)  (a) AT (b) (3) T (b) x 4) T ()

Which of the following pair of Tourist places in Buldhana district is not true ?

(a) Lonar - Demon Sudans Temple

(b) Deulgaon Raja - Birth Place of Jijamata

(c) Shegaon - Saint Gajanan Maharaj Samadhi
(d) Jamod - Ancient Jain Temple

Answer Options :

(1) (a)and (d) (2)  (a) and (b) (3) (b)only (4)  (c) only

eedl SHTATHIGS! ST/ SPACE FOR ROUGH WORK
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85. W fgushewferast drar I feret
(a) R fyweheq stefdesm weren fadgd B
(b) T ™ FEEHS IET el
© e e i e S RS A
(d) R foueheaTar fermeie @A STERI STGo A
i S
1) (a) fom A o
) ()3 (b) faum 9r= ama
(3) (@) (o) T (d) Taum I s
(4) wd faum Irg amRa
Choose ﬁ1e correct option about Indian Peninsula.
(@) Indian Peninsula was adjacent to the Antarctica.
(b) Latter on it drifted towords Northwest. *
(c) Indian Peninsula drifted from frigid zone to tropical zone.
(d) The remnants of glacial erosion are found on the Indian Peninsula.
Answer Options :
(1) (a) is correct statement
(2) (a) and @are correct statements
(3) (a), (c) and (d) are correct statements
(4) All are correct statements
86. T TSN HIZAME HETH THIO HeAifieh sTee.

(1)

G2 3103 | £ 2) fa=gfra (@) fomEe @) de

The highest proportion of carbon is found in coal.

e

Anthracite (2) Bituminous (3) Lignite (4) Peat

Tl HHTHTST W/ SPACE FOR ROUGH WORK
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87. faam a fam =1 SM eRien e ergo 4Ud H UL,
(a) e faermar snfor famn faemma
(b) FIHE faamm
() TeTar feremran snfor vy fererman
gt AT
(1) W (a) =R 2 (2) T (b) T AR
(3) (), (b) TR R 4) T () I T8

The layer between Sial and Sima is called as

(a) Moho discontinuity and Sima discontinuity

(b) Conrad discontinuity

(c)  Gutenberg discontinuity and Moho discontinuity

Answer Options :

(1)  Only (a) is correct (2) Only (b) is correct
(3) (a), (b) are correct (4) Only (c) is correct

88. WRRIETIA @i sl a1 &7 (g 219) = T g,

(1) Few= TR (2)  Hewn e

(3) Hadem aferdren (4)  Feeen e

State the location of mineral oil field (Mumbai High) in Maharashtra :
(1)  West of Mumbai (2) North of Mumbai

(3) South of Mumbai (4) East of Mumbai

89. Ti¥=Y W Tdlddd I 1 M ASES T,

(1) drer (2) @i (3) g 4) Fud
Shifting Cultivation in Western Ghats is known as
(1) Valre (2) Khil (3) Jhuming (4) Kumri

AT HIATETE ST/ SPACE FOR ROUGH WORK
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90. W,W,wmngtmngm@aﬁa____ﬂwﬁw%ﬁ.

(1) - (3) faw=h (4) RN

Tarun, Ujwal, Sagar and Mayur are the varieties of in Maharashtra.

(1) Onion (2) Brinjal (3) Chilli (4) Cucumbar

91. mwmwwmm@wwmmv

(1) 1901 - 1921 2) 1921 - 1951
(3) 1951 - 1981 (4) 1981 - 2011

Which of the following period is known as the beriod of growth of population i
India ?

(1) 1901 - 1921 (2) 1921 - 1951

(3) 1951 - 1981 (4) 1981 - 2011

92, YRATY WIEHeTdh! hIvd fgel hIsiA Had Tl T8 ?

(1) SEurEe qeu (2) fear=et w<w
(3) T W_W (4) HHR
Which of the following is India’s first carbon free state ?
(1) Arunachal Pradesh (2) Himachal Pradesh \ !
(3) Madhya Pradesh (4) Kashmir @ K@
@ (
XK U A

93, szoolmwaﬁmmwmwwaﬁaﬁagﬁéaﬁ?
(1) 4.24 (2) 2.24 (3) 3.34 (4) 5.02

How many percentage of people migrated from other states to Maharashtra state a;
census 2001 ?

(1) 4.24 (2)° 2.24 (3) 3.34 (4) 5.02

HEAT FHIWTETS ST /SPACE FOR ROUGH WORK .
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94. 2011 A1 SFTVRYH HeRTE [T Faifud AT AR SRAR foeran swwid e 2
(1) feen 2) T (3) famw (1) fen
According to census 2011, Maharashtra stands which rank in most urbanized state in
India ?
(1)  First (2) Second (3) Third (4) Fourth
95. UM 2011 mmmw@zﬂmwm
(@) icE (b) I () IR
(d) HEm (e) S=E (f) ST
qqidt 3T
(1) (), @), (), (b), (DD 2 (@) (c) (a) (d), (b)
@3) (@) (@), () @) (1), ) #) (@) (e) (a), (d), (b)) (E)
Arrange the descending order of the following districts regarding total population as per the
2011 census.
(a) Nanded (b) Latur () Ahmednagar
(d) Satara (e) Jalgaon (HH Jalna
Answer Options :
(1) (@), (@), (©), (), @), (f) 2) () (), (a), (d), (b), ()
3) (@) (e) (o) (@), (), (b) ) (©) (&) (@), (d), (b), (F)
96. HTIIH TSI TGS h1E ?

el

(1) 80% e 37T 20% HeH SIS qHITE

60 fohar 70% T SEATFIES A0 40 fhar 30% TN ffFEe gufas
(3) 80% TFZINA ITHIZS MM 20% ST GHIfTE

(4) 90% oo 37for 10% Bferam qwifae

What is acid rain ?

(1) Contains 80% Carbon and 20% Sulphur dioxide
(2) Contains 60 or 70% Sulphur Dioxide and 40 or 30% Nitrogen Oxide

(3) Contains 80% Nitrogen Oxide and 20% Oxygen
(4) Contains 90% Oxygen and 10% Helium

74T ShTHTETS! ST/ SPACE FOR ROUGH WORK
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97. fyanal wiem TANE T o
(1) AM TFRTOTT v famgm o g wrEE ?
(3) Csh (2) Bsh
As per Triwartha ¢ (4) FTAATH E1Id]
district ? Imate classification which type of climate is found in Sindhudurg
¥YP
1) AM
(3) GCsh (2) Bsh
(4) None of the above
— —_—
| STATEOTS R s —
” 1 01oommmmﬁ?ﬁm€w m it 26 3TEA ?
‘fN)hat ’ o (2) 20.9476 (3) 0.0934 (4)  0.0018
is perce s o N '
1 o 11;’)01(';11108( of Neon (Ne) principal gas in dry air of atmosphere ?
' (2) 20.9476 (3) 0.0934 (@) 0.0018
99. RN WETHIA Hewidiel wmeim favurs wa
(a) Wﬁﬁammﬁiﬁﬂﬁm%“ 3 v AL,
(b) 1992 WA WY TCHI TANHRIA FATR TR Ferel T Faremt a1 Ferhfert e
(c) TeER 1997 74A WETwierat Hen Fe. g /-
it 39N Sy
- 11_,\ R
(1) e faum (a) TR e .
(2) e fauE (b) S e
(3) Taum (a), (b) M () TTR Tea
(4) Taum (a) T () TUK 37ew
Observe the following statements about @"mttxol.
(@) The aim of the protocol was to address the problem of a At anet
(b) Protocol extended United Nations frameworK on climate change.
(c) Protocol was signed in Decembs
Answer Options :
(1) Only statement (a) is correct
(2) Only statement (b) is correct
(3) Statement (a), (b) and (c) are correct
(4) Statement (a) and (c) are correct
A= . uptias s = el

OUGH WORK
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100. ST g4 -
TAHA Y& A fas
(2) TagageE o i Csa
(b) STHEUE FE AW FRS (i) Am
() TogagsE sweht (i) Af
(d) FEErRE (v) Aw
QT ST
@@ @®) ( (@
1 @ @) @ @)
@ @ @) @ @
(@) @ @ @ )
#) ) @@ @) @
Match the following :
Climate Type Koeppen Symbol
(a) Humid equatorial (i) Csa
(b) Tropical wet and dry (i) Am
() Equatorial monsoon (i) Af
(iv) Aw

(d) Mediterranean
Answer Options :

(@ @) (o (d)
1) @ @) (@) (i)
L@ @) (v @ @
3) (@) @@ @ @)
@) @v) @ @)

HoT SITATS! W/ SPACE FOR ROUGH WORK
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J01. T faum wey .
@) T Y YN 2000 +freven @ e . e
(®) T E S Sefrtien i s O
() PIFONA 05 % St ey oy »
il SaY

(1) T (2) 3 () v e
2 Tou (b) = () e sy
(3) T (), (b) =nftr (o) =rvem e

@) Toum (a) fr (b) ader g

L
Observe the following statements -

(a) Cirrus clouds are produced below 2000 meters from land surface.
(b) Stratus clouds are high altitude clouds.
() Konkan rainfall isfonfectiond type. -

Answer Options :
(1) Statement (a) and (b) are correct
(2) Statement (b) and (c) are correct

(3) Statement (a), (b) and (c) are not correct

(4) Statement (a) and (b) are not correct Le
102. HIERY AMYE T S ? . @
| v =%
| (1) = Boar FH 1.5°F/KM. 0 DB 5
(2) H Sroars gH 2.5°F/1000 M N\, @

(3) i Sroars g 3.5°F/ 1000 ft

4) H S gE 4.5°F/KM.

What is normal lapse rate ?

(1) Decline amounts to 1.5°F/ KM.
(2) Decline amounts to 2.5°F/1000 M
(3) Decline amounts to 3.5°F/1000 ft
(4) Decline amounts to 45°F/KM.

WORK
F TS S/ SPACE FOR ROUGH -
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103. ‘fAelleR’ & Uftemon arareRomen Horen Sie A0 HOAEE G SR 2
(1) STrERems qre (2) TSRS ST
(3) SR T (4) SIEOITHET greTETe

’ N ’ - .
Milibar’ unit is used to measure which element of weather ?

(1)  Atmospheric temperature (2) Atmospheric pressure
(3)  Atmospheric density (4) Atmospheric mobility
104. WIH TG Fe Wfredt it waterw afag 1972 e e e Shell Bl
(1) =i (2) g
(3) —gEiH (4) uRE

U.‘NO organized first world conference on environment in the year 1972 at
city.

(1) Stockholm (2) Johannesburg

(3) New York (4) Paris

105. YA ¥kt 1 a1 ?
(1) =ifas-19 T oA onfon faswm
(2) SR faQiet 9 SATRE $ie
(3) HIHS, fehTraTa® IUUE T HIUAET ATH Hi
(4) wiedent
What is Mission Shakti ?

(1) Research and development of Covid-19 Vaccine

(2) Operation code of antisatellite weapon

(3) Operation code to destroy satellite from Tamil Nadu coast

(4) None of the above

oAl hIITATST ST /SPACE FOR ROUGH WORK
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106. mwﬁmﬁaﬁma@a?
a) e
@) et WoeiigR forareor anfen e AT ST RS TR,
(b) WWWWQWQWWW%W?@

(c) ST Feereft wommeiven iy syt <ramredt St <L

gt SN ;
(1) Ta9™ () anfor (p) ) faum (a) 3 ()
3) Taum (b) sufer (o @) faum (a), (b) 37 (c)

Which of the following statements are correct ?

(a) Itis possible to study erosion and sedimentation through Geographic information system.
(b)) Remote sensing technic can not be used to study growth and health of crop.

(c) Global positioning system is used in agricultural machinary.

Answer Options :

(1) Statement (a) and (b) (2) Statement (a) and (c)

(3) Statement (b) and (c) (4) Statement (a), (b) and (c)

107. %mﬁwuﬁﬂuﬁﬁﬁaﬁaﬁ

(1) Fufg (2) Her (3) HIE (4) T

is an important biomes in North Hemisphere.

(1) Campos (2) Savanna (3) Pampas (4) Taiga

L —
R ROUGH WORK
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108. Srem oo
B T

(@) WA (i) SPOT

(b) WRra (ii) IRS-1A

() wH (iii) LANDSAT

(d) smfwE (iv) JERS-1

uu‘hﬂ Eﬂ} .

@ (b) (o) (q)
1) @) Gv) @) ()
2 (O @) (@) (i)
(B) @) @) @) ()
(4)  Gv) @) @) (i)
Match the following :

Country Satellite
(a) Japan (i) SPOT
(b) India (i) IRS-1A
(c) France (i) LANDSAT
(d) US.A. (iv) JERS-1

Answer Options :
@@ () (9 (d
(1) @) (@) () ()
2 @ @ @) (i)
3 @) @ @ (v)
(@) (v) @) @ ()

109. 31¥9 I&TA RN HY ?
(1) 30° S famr A g v (2) 100 SR 3 <o Y < g
(3) 60° I MU faywr S T WG (4)  90° I MM Bl WA 7@ W
What is horse latitude ?

(1) 30° N and S high pressure belt (2) 10° N and S low pressure belt
(3) 60° N and S high pressure belt ~ (4) 90° N and S high pressure belt

Hoedl HTHTETS SMT/SPACE FOR ROUGH WORK
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. T STRATRS e
= (1) e AX Froren yepreen S TSAH! @S 2
3) iy (2) oRE
(4) T AR

Which type of rainfall js
(1) Cyclonic
3) OrOgraphiC

Observed at Cherapunji in NE India ?
(2) Convectional
(4) None of these

/—_\
lll'mfﬁammaﬁwmm-mmﬁwmmﬁ%mwaﬁ
1) TEdE 9
23; . S (2) WAECE ar
M (4) =AU AR

Which planet . \
belt of f‘fmoes;ﬁ}; r‘eVl?ndS flows from sub-tropical high pressure belt to tropical low pressure

(;) zﬂc’?c Win.ds (2) Anticyclonic winds
(3) ade winds (4) Trade winds
112. @ faum .

(a) YIS HEWRIN oiaf 601 oo, a7,

(b) TG HEMHRS Had & T s 8 v qut e s,
(c) ®HEMT ARETE WereA efayor arepy oven TR,

it S

(1) H fa¥M (c) TR k.

2) e TaUE (b) SR .

() faum (a) sftr (b) IR S&d.

(4) Taum (a), (b) oMM (c) ==K e

Observe the following statements -

() The length of the Samrudhi express way is 601 k.m.
(b) Mumbai to Nagpur distance can be completed in 8 hours due to samrudhi expre;

way.
(c) This express way passes through the South side of Aurangabad city.
Answer Options :
(1)  Only statement (c) is correct
(2)  Only statement (b) is correct
(3) Statement (a) and (b) are correct
(

4)  Statement (a), (b) and (c) are correct
\

RS ST T/ SPACE FOR ROUGH WORK

P.T



www.byjusexamprep.com m BYJU'S

114 50 ¢
113. ATt FIod ufEe R o amia ?
(a) il weTE (b) ¥ W@
(c) YuF = (d) SEEEAF =I5
qQidt Y ;
(1) & (b) 2 (a), (b) 3 ()
(3) (), (©) s (b) @) () ®). (© 3 ()
Which are the attributes of ecosystem ?
()  Energy flow () Food chain
() Nutrient cycle (d) Biochemical cycle
Answer Options :
(1)  Only (b) (2) (a) (b) and (c)
(3)  (d). (c) and (b) (4) (@) (b), (c) and (d)
114. MRATT HI&0T Gy 37fr faerg Hersh s Sl giet ?
(1) 1948 (2) 1958 (3) 1938 (4) 1968
When was the Defence Research and Development Organisation established in India ?
(1) 1948 (2) 1958 (3) 1938 (4) 1968

115. WRATHY YEET0] TREVT FTALT Hegl A hedl ?

(1) 19 =R 1986 (2) 20 =R 1976

(3) 20 fed=X 1996 4) ST R
When was environmental protection act implemented in India ?
(1) 19 November 1986 (2) 20 November 1976
(3) 20 December 1996 (4) None of the above

116. Y& FM@ER0 I FUTCAS AU T, TGS QA = ST B 7=,

(1) 7= fawm (2) ereRE fawm

(3) &-ferxor fawm (4) g&m A faem

Earth’s atmosphere absorbs _ wavelengths and hence can not be used in Remo
Sensing.

(1) Visible Region (2) Infrared Region

(3) X-Ray Region (4) Microwave Region

HoAT RIS SIfT/SPACE FOR ROUGH WORK
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117. WWWW/WWWWWM7
(a)  FE/ Sffirery b)  Fi () gAm (d) IR FERI
it 3¢
(1) (@) Ty
@ ® ¥ (©) T s
@) (© F(d) ¥ s
@ (@ ®) () F(d) drg g
A Global p ositioning System receiver consist of
(a) Antenna (b) Camera (c) Telescope (d) Infrared light
Answer Options :
(1) (a) is correct
(2) (b) and (c) are correct
(3) (c) and (d) are correct
4) (a), (b), (c) and (d) are not correct.
118. WU ERMEAT SR Fatq sy aeddien FeI STre Siare RURLINIE
@l I
(1) 1:24,000 (2) 1:8,000
(3) 1:10,000 (4) 1:600
In satellite Imagery most plant species can be recognised almost entirely by their morphological
characteristics on scale.
(1) 1 :24,000 2) 1:8,000 .
(3) 1 :10,000 4) 1:600 | 22
%/3
19. FHEIER O fgueiel Aot 3R 3 WAL AR, TS Drfe wetud of 12 . em%’.(f‘
TEHERIET Thel 1 : 50,000 36, T ST Shets! TUET . @(‘50
(1) 1:10,000 (2) 1:2,00,000 (3) 1:12,500 (4) 1:1388
The distance measured between two points on a map is 3 cm. The corresponding distance W
on an aerial photograph is 12 cm. Calculate the scale of the photograph when the scale of s
the map is 1 : 50,000.
(1) 1:10,000 2) 1: 2,00,000 3) 1:12,500 (4) 1:1388
——
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120. TTEACIE! HIVET Taia Jaex Ter wHRTe SR Ll ?

1) YIS Tdgw & (2) fefea Taeer Aisd

(3) ThA hered wfam (4) SR SUUE Wi

Which of the following options represents vector data types ?

(1) Ground Survey Data (2) Digital Elevation Model

(3) Scanned Images (4) Digital Satellite Images
121. W A T, TaH S dieh SHaETeR Siae A1 T faeR ge farrge i e few

ST Y 379 U,

(1) 37g® d39H (2) 3T Il ISH

g 9 usd

(3) TF ¥ (4) -
may be defined as an accurate application of agricultural inputafo,
considering relevant such as soil,_____v_\;ggﬂ,ler and crop management practices.

(1) Precision technology (2) Precision farming system

(3) Precision farming (4) Precision cropping system

122. 6= qoame
feraor =t 2.
(1) fcwram (2) dfrEm (3) wifeas (4) HHfER
High content in irrigation water causes deflocculation of soil leading to reduced
soil permeability and low infiltration of water into the soil.
(1) Calcium (2) Potassium (3) Sodium (4) Magnesium

9 W YA G Al T S WA qrol qregrer wifea S qiof

123. T YIGEMHEY GIHIo] qradmaan < THIV SR ST T A OIS (I )

319 UMM
(1) &R (2) 3T G
(3) 3ol (fawer) dgm (4) TH®

Acid rain is a rain that has a larger amount of in it than a normal rain.

(1) salts (2) acid compounds

(3) alkali compounds (4) sulphur

HoAT FHIMEIE! ST/SPACE FOR ROUGH WORK
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Sagey
(@)  H iy (M) _ T e
B T () Viperia faemed areERude 7= ferewom Te
(€ “faaday (Mo) ?Z) :;jmmwm
d) Tofasm (Si)
SO (iv) wramed feesafaera Rl dmefad
@  (b) (g )
D ) G ()
(2) () (i) O ()
() @) (@v) g (i)
@) @) @@ Gy g
Match the following :
Nutrients Functions of Plant
(@) Magnesium (Mg) ()  Helps in atmospheric nitrogen fixation in legume:
(b) Zink (Zn) (i) Acts as a carrier of phosphorus in plants
(©)  Molibdenum (Mo) (i) Enzymatic activities
(d) Silicon (Si) (iv) Increases resistance of rice against insect pests
Answer Options :
@ (b) (o) (d)
() @) @@ @ 6
) @) @) @ @)
3 @) (v) @) @
@ @ @ @ o

m BYJU'S
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125. 31 <, 0 Sfte, wfsaien frewdnt @ s Swea wm af e faeda @ wma @i
U :
(1) e (2) wF=TE
(3) <E=ERw (4) feshded

The organisms which feed on the parts of dead organisms, wastes of living organisms, their
cast-offs and partially decomposed matter are called as :

(1) Chemotrophs (2) Carnivores
(3) Detritivores (4) Decomposers

126. TREEIH Fetar R (i) 9™ TEUTATA.

(1) i 3mEr (2) TaErSaE
(3) Fei yaTE (4) ATR! TR
The behaviour of energy in ecosystem is called :
(1) Energy input (2) Respiration
(3) Energy flow (4) None of these
127. ST HE (pH) 7 180 S o9ea® _ 9HH WUEn.
(1) smayHE (2) Ttz (3) Sarfe (4) AT A
Soil with pH higher than 7 is called soil.
(1) Acidic (2) Alkaline (3) Neutral (4) None of these

128. SIAIfdeh TTYHH AEHES HIUCI(H) Hh TA&Ten HRONA /e ?
(1) EA B9 aey Afushdd T (2)  siae ag S

(3) T HudA (4) =0« Wl

Which factor(s) is/are not directly responsible for global warming ?

(1) Excess amount of CO, (2) Emission of green house gases
(3) Deposition of Acids (4)  All of the above
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129. IO SsTeftey T
TR v JoTor 2o Sz ST S 2
() TE=mH
© W ) T
yifas T
d) wHA
gt 39 (d) @
1) (a), (b) sufy
R 2 (a), (c) 3 (d) e
3 ,
G @) ) 3 ¢) vy @
Am :
il of rain Water from catchment area depends on which factors ?
(a) Rainfall _
(b) Soil texture
(c) Topography D, g o
Answer Options :
(1) (a), (b) and (C) OnlY (2) (a)’ (C) and (d) only
(3) (a)l (b) and (d) only ( 4) A].]. of the abOVE
130, STHIT WU I AR S W T S .
(1) i1 St st fomet e 9 e STt el
(2) feeT Herhel Y T
(3) SYeg1 WUl SIS TR WITER Hr=d fohel e a1g o
(4) el A&
The land is called waterlogged when
(1)  When soil pH is >9
(2) When root zone is saturated
(3) When water stagnates Or flows over the soil surface
(4) None of these
Te—— I
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131, fohrem a@med fimm o G e T w1 e 7
(a) A W= faewm anfon SR SmEva®
(b) e Z=aT w=w
() fErm nvie s e
(d) == fodwe fRaraet veaes

Uﬂfﬁ'ﬁ:{':
1) (a) T 2) (b) &R
3) (), (c) =nfor (d) B (4) =0d wd

What is the function of Magnesium nutrient in crop plant growth ?
(a) Essential for development and growth of new cells

(b) Component of Chlorophyll

(c) Structural component in ribosomes

(d) Cofactor for many enzymatic reactions

Answer Options :

(1) (a) only (2) (b)only

(3) (b), (c) and (d) only (4) All of the above

132. YRV ek e sit fooene 771, fot a3, aniiertor amifor Srof ame 31eams i o
34 Hargel 9.

(1) SSrRrerst (2) TSRO (3) T YRR 9T @) i

A branch of soil sci@z\t\ specifically deals with the study of soil ts classification

and description is known as "
(1) Edaphology (2) Ecology (3) Pedology (4) 4
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133 ﬁaﬁm&ﬁ%(maﬂwm/aﬁa?
(a) : . L

) T R 2 (it i et vy ey el 1 S

oatdt I
(1) P (a) sy ey .

(2) W (b) ISR TR
(3 =R

T 2) ST (b) e aqag (4) IO S
Which of the followings Statement(s) is/are correct ?

a) Use of
(a) 8YPSum createg favourable Ca : Na or Ca : Mg ratio in irrigation water.
(b)  Poor quality irrigation Water

Answer Options :
(1)  (a) only (2)  (b)only
(3) Both (a) and (b) are correct 4)

application with sprinkler leads to leaf burn.

None is correct

134. LI Taurmdet somt sfva g
(a) wmwwwmwmaﬂm;
(b) %W(W)mmwmm@m(m)mwﬁmwm

AR
T 39
(1) (a) ® (2) (b) we

(3) <= (a) oTfUT (b) SRR A (4) HIURE! SR AR

Which of the following statements are correct ?

(@) Soluble chemical fertilizers can be injected into the of irrigation and
applied to the crop.

(b)  Fine textured soils require very closely spaced farrow than coarse textured sojl during
surface irrigation.

Answer Options :

(1) (a) only (2) " (b) only
(3) both (a) and (b) are correct (4) None is correct
\
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135. W ST FIot e fafey fen, e TS oA, SRS, afa = e Frad A

faoga st yodR@mm o TUWm.
(1) Sayy (2) smifer ga

(3) TATH Yy (4) TR HI
The erosion which is due to disturbance in natural equilibrium by the activities (_)f man and
animals through land mis-management, destruction of forests, over grazing is called as

(1) Water erosion (2) Geographical erosion

(3) Accelerated erosion (4) Wind erosion

I oA YT § T ST A STHEN Wi v T Hedd S ?

136.
(a) IR g (b) TS |G
(c) SIfHA efraRom=n = (d) SIEEET ScTEsh
Tt 3w
(1) (a) ST (b) et (2) (b) ST (c) F
(3) (a), (b) MU (c) He (4) =@

The availability of water in soil is a critical factor and which of the following points are

related to it ?

(a) Soil erosion (b) Siltation

(c) Loss of soil cover (d) Productivity of soil
Answer Options :

(1) (a) and (b) only (2) (b) and (c) only
(3) (a), (b) and (c) only (4) All of the above

137. JEE=A1 JRUTIER AU Sgarel GIYHTel I araraTons & STt gayarme s wWedee
I TRUTIA.
(1) ®faye giom (2) ST AEHMETS
(3) ERATEAY (4) < TR IS

é\?‘abﬂity of the a@ to admit most of the insolation and r¢tard th§ reradiation from
. . ‘_-_______.—J

earth )is known as

Green house effect (2) Global warming

(3) Green house gases (4) Long wave radiation
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138. W%mm@mwm ST STTEATEA TR Sl ST ST ST i A
$Hd EXsi B Thﬁ%[
Bl 3Ty T
(1) 9 Hymy

(2) TR HURT
(4) whmer: e gl

The .
e @ utilization of land and ources for optimuny productionsthat causes
minimwn d

AMage to the natural resources is defined as .

(1) Water haI‘VESting

(2) Soil conservation

(3) Watersheq management (4) Sequence cropping

139. 79 (FIeR0) i v faregidi <y 2
(1) == |

(2) =R SRR
(3) I et (4) =T Een
What determines the drainage coefficient ?
(1) Drain spacing (2) Drain size
(3) Drain depth (4) Number of drains

140, WRAT=AT STl IV FHerHrad THEOm SEml H0 YAk Wi ARt Jeyd Hdae
e ?

(1) =haH 42 2) HH 48 T
(3) @™ 51 T (Si) (4 wEH 52
Which _article-in Constitution of India recognises environmental protection as one of the
every citizen of India ?
.
(1) Article 42 (2) Article 48 A
(3) Article 51 A (g) (4) Article 52
\
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ettt T sRiaw faum/ 3 e

(a) Formor ARAAER Qo anfin g ErerETCAAEA FU A

(b) Tao T TR e e st AR

Tt I

(1) (a) T . (2) (b) I 3.

(3) IR (a) I (b) FIW I, (4) AR T TSR T,
Choose the correct statement(s) from the following :

(@) In clay soil water and air movement is restricted.

(b) Water holding capacity of clay soil is high.

Answer Options :
(1) (a) is correct (2) (b) is correct

(3) Both (a) and (b) are correct (4) None is correct

142.

e =T Fedeer e e (s D) ) e e 7 e 977
(1) e, R (), A e s faw e W s
(2) T drre, faeu, dree () ST aegid e A SHi
(3) arena e, e (), faer drre anfor faer A SHE
(4) fomu, fao 9, WEeT (Mes) S AgHd rERl A SrHiA
Which is the correct sequence of soils in a@g order based on their moisture contents

and field capacity 2
(1) Clay, Silt loam, Sandy loam and Clay loam soil

(2) Clay loam, Clay, Silt loam and Sandy loam soil
(3) Sandy loam, Silt loam, Clay loam and Clay soil
(4) Clay, Clay loam, Silt loam and Sandy loam soil

143.

@A HIval el GURETAL] otk fem qrgead 3R ?
(1) T (2) deHehe

(3) e TR (4) TEE TiHH
Which of the following soil amendment is having the highest equivalent ?

(1)  Sulphuric acid (2) Iron Sulphate
(3) Iron Pyrite (4) Elemental Sulphur
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. SfrE 3y
144 RO %MWW?TWWWWWHWW

N Sl ! (2) <foEEn 9
S)vertical se :‘m@a (4) SR T
Ctio i
parent materia] rilsolfntgf\,io;ls showing the various layers from the surface to the unaffected

(1) soail fertility

(3) - soil profile (2) soil texture

(4) soil structure

,—/\

145'3,1—;1 Wﬁ/“m““ﬁﬁwﬁwmwwmmw
(1) T SR g (2) Oft Her e
©) TRl e (@) it fasmof=h srtem

—_1s determined to evaluate the benefit of applied water through economic crop
production.

(1) Water application efficiency (2) Water storage efficiency

(3) Water use efficiency (4) Water distribution efficiency
146. TIERUMTA et BT S ox gesftey oy 1 AT SRS W STede 2l
SIEICIERE| TH= Tt anfor weg e JRTAMEY =l fmior S,
1) eAfara (2) THNE (FE) (3) diEgem 4)
The decreasing ozone layer in atmosphere will raise the level of radiation coming
to the earth creating problem for agriculture, animal and human health.
(1) Ultraviolet (2) Infrared (3) Red (4) Violet
147, T Sl Ga T fHevHmiel T FIR He siuem amel ?
(1) 22 ufit 2016 (2) 4= 2016
3) 12 fedaw 2015 ) 30 @ 2018
When the Paris agreement within the United Nations framework convention on climate
change came into force ?
(1) 22 April 2016 (2) 4 November 2016
(3) 12 December 2015 (4) 30 May 2018
\
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148. TIEEIhT Hio foar airag = ?
(1) &er e G e SaHAE S S
(2) TCREER o FvarE S TR ST WUAT ST RO TS ST,
(3) IHS WR ST AR e Seed AIEIe! FEGHT Fell ST,
(4) =TT THd TR

Which of the following statement is not correct ?
(1) Land use in area depends on the modes of life of people.
(2) Water resources need to be conserved by tapping the available surface water.

(3) In agriculture, solar energy has been used efficiently for improving crop production.

(4) None of the above

149. 9EHTE O HISAvATS WIATAIh! B0t T 3Ted ?
(a) TTETHTSAT O] AR TG HIEAUH
(b) U= UG SICUHIBERGT HSAUH
(c) qUr=AT qIvETs SHREHIET Heauh
(d) =rodiyE 3NfYr aTHHs HHT B

Whﬁ‘?ﬁﬁ' :
(1) (a) ST (b) e (2) (a), (b) =0for () wer
() =a Td (4) =AU AR

Which of the followings are rain water harvesting techniques ?
(@) Runoff harvesting for short-term storage

(b)  Flood water harvesting for short-term storage

(c)  Flood water harvesting for long-term storage

(d) Reducing evaporation and transpiration

Answer Options :

(1) (@) and (b) only (2 (@) () and (c) only
(3) All above (4) None of the above
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150. eI 270 Tl Hadr § Tty S o

(a) T A (b) TG AES

(C) Wﬁw ( d) mm" Lo m

qar 39K

1) (b), () W (d) Fe @)  (c), (b) 3 (a) B

(3) (), () 3 (a) HH @ (@) O) () @) T

Mechanical Measures of soil and water conservation are :

(a) Graded bunds (p) Contour cultivation

(c) Bench terracing (d) Contour bunding

Answer Options :
(1) (), (2)and () only
(3) (d), (c) and (a) only

2 (9 (b)and (a) only
@) Al (@), ®) (9 and (@

-o0o0-



